[ Three Rock-Paper-Scissors]

2 When three people play rock-papaer-sciossors , observe how goo , choki , and par appear.
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Touch the screen five times to activate.

Touch the screen again to stop the auto.

If you touch it furtherit will be initialized.

When the screen goes dark,touch the title bar !
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You can observe how A , B, and C play rock-paper-scissors.

In one rock-paper-scissors game , which case is more likely to occur , such as when only A
wins , when only A loses , or when a tie occurs ?

Also , let"s find the probability that only A will win , the probability that A will lose , the
probability that a tie will occur , the probability that only one will win , and the probability that

only one will lose.



